

$$I = \frac{\omega}{2\pi} \int_0^{2\pi/\omega} |Z| |U|^2 \cos(\omega t + \beta + \theta) \cos(\omega t + \beta) dt$$

$$= \frac{|Z| |U|^2 \omega}{2\pi} \int_0^{2\pi/\omega} (\cos(\omega t + \beta) \cos \theta - \sin(\omega t + \beta) \sin \theta) \cos(\omega t + \beta) dt$$

$$= \frac{|Z| |U|^2 \omega}{2\pi} \left\{ \int_0^{2\pi/\omega} \cos^2(\omega t + \beta) \cos \theta dt - \int_0^{2\pi/\omega} \sin(\omega t + \beta) \cos(\omega t + \beta) \sin \theta dt \right\}$$

odd over even region

$$= \frac{|Z| |U|^2 \omega}{2\pi} \cos \theta \int_0^{2\pi/\omega} \cos^2(\omega t + \beta) dt = \frac{\omega}{2\pi} \cos \theta \int_0^{2\pi/\omega} \left( \frac{1}{2} + \frac{1}{2} \cos(2(\omega t + \beta)) \right) dt$$

$$= \frac{\omega}{2\pi} \cos \theta \left( \frac{2\pi}{\omega} \cdot \frac{1}{2} + \int_0^{2\pi/\omega} \cos(2\omega t + 2\beta) dt \right)$$

$$= \frac{\omega}{2\pi} \cos \theta \left( \frac{\pi}{\omega} + \right)$$

$u = 2\omega t + 2\beta$   
 $du = 2\omega dt$  : take the indefinite integral

$$\frac{1}{2\omega} \int_0^{u-2\beta} \frac{1}{2} \cos u du = \frac{1}{4\omega} \int_0^{u-2\beta} \cos u du$$

$$= \frac{1}{4\pi} \sin(\omega t + 2\beta) \Big|_0^{2\pi/\omega}$$

$$= \frac{1}{4\pi} (\sin(4\pi + 2\beta) - \sin 2\beta)$$

$$= \frac{1}{4\pi} (\sin 4\pi \cos 2\beta + \cos 4\pi \sin 2\beta - \sin 2\beta)$$

$$= \frac{1}{4\pi} (1 \sin 2\beta - \sin 2\beta)$$

$$= 0$$

$$\frac{|Z| |U|^2 \omega}{2\pi} \cos \theta \frac{\pi}{\omega} = \frac{1}{2} \cos \theta |Z| |U|^2$$